
ENGLISH

Datasheet
Hexagon Head Coachscrew to DIN 571 Gr 4.8 Steel, 
Bright Zinc Plated

1443532	 M6 x 25
824878	 M6 x 40
824890	 M6 x 50
824913	 M6 x 60
824935	 M6 x 70
1443533	 M6 x 80
1443534	 M6 x 90
1443535	 M6 x 100
1443536	 M8 x 25
1443537	 M8 x 30
824941	 M8 x 40
824957	 M8 x 45
824963	 M8 x 50
824985	 M8 x 60
824991	 M8 x 65

825001	 M8 x 70
825017	 M8 x 75
825023	 M8 x 80
1443538	 M8 x 100
825039	 M10 x 50
825051	 M10 x 60
825073	 M10 x 70
825089	 M10 x 75
825095	 M10 x 80
825118	 M10 x 100
1443539	 M10 x 120
1443540	 M10 x 130
1443541	 M10 x 140
1443542	 M10 x 150
1443543	 M12 x 40

1443544	 M12 x 50
825124	 M12 x 60
1443545	 M12 x 70
825152	 M12 x 75
825168	 M12 x 80
825180	 M12 x 100
825203	 M12 x 120
1443546	 M12 x 130
1443547	 M12 x 150

RS Stock No 824957
Size M8 x 45

Please view our full range listing below
RS Stock No       Size RS Stock No       Size

12

FA
S
T
E
N
E
R
S
 &

 F
IX
IN
G
S

Product Codes Begin ^HXC  Product Group 8

CE Approved Coach Screws
BZP Hexagon Head DIN 571

O J 4 8 0 1 7 6       6 . 0 × 2 0 m m 2 0 0

O J 4 8 0 1 8 3       6 . 0 × 2 5 m m 2 0 0

O J 4 8 0 1 9 0       6 . 0 × 3 0 m m 2 0 0

O J 4 8 0 2 0 6       6 . 0 × 4 0 m m 2 0 0

O J 0 0 3 0 9 2       6 . 0 × 4 5 m m 2 0 0

O J 4 8 0 2 1 3       6 . 0 × 5 0 m m 2 0 0

O J 0 0 3 1 0 8       6 . 0 × 6 0 m m 2 0 0

O J 4 8 0 2 2 0       6 . 0 × 6 5 m m 2 0 0

O J 0 0 3 11 5       6 . 0 × 7 0 m m 2 0 0

O J 4 8 0 2 3 7       6 . 0 × 7 5 m m 2 0 0

O J 0 0 3 1 2 2       6 . 0 × 8 0 m m 1 0 0

O J 4 8 0 2 4 4       6 . 0 × 9 0 m m 1 0 0

O J 4 8 0 2 5 1       6 . 0 × 1 0 0 m m 1 0 0

O J 0 0 3 1 5 3       8 . 0 × 2 5 m m 2 0 0

O J 4 8 0 2 6 8       8 . 0 × 3 0 m m 2 0 0

O J 0 0 3 1 6 0       8 . 0 × 3 5 m m 2 0 0

O J 4 8 0 2 7 5       8 . 0 × 4 0 m m 2 0 0

O J 0 0 3 1 7 7       8 . 0 × 4 5 m m 1 0 0

O J 4 8 0 2 8 2       8 . 0 × 5 0 m m 2 0 0

O J 0 0 3 1 8 4       8 . 0 × 5 5 m m 1 0 0

O J 0 0 3 1 9 1       8 . 0 × 6 0 m m 1 0 0

O J 4 8 0 2 9 9       8 . 0 × 6 5 m m 1 0 0

O J 0 0 3 2 0 7       8 . 0 × 7 0 m m 1 0 0

O J 4 8 0 3 0 5       8 . 0 × 7 5 m m 1 0 0

O J 0 0 3 2 1 4       8 . 0 × 8 0 m m 1 0 0

O J 4 8 0 3 1 2       8 . 0 × 9 0 m m 1 0 0

O J 4 8 0 3 2 9       8 . 0 × 1 0 0 m m 5 0

O J 4 8 0 3 3 6       8 . 0 × 11 0 m m 5 0

O J 0 0 3 2 2 1       8 . 0 × 1 2 0 m m 5 0

O J 4 8 0 3 4 3       8 . 0 × 1 3 0 m m 5 0

O J 0 0 3 2 3 8       8 . 0 × 1 4 0 m m 5 0

O J 4 8 0 3 5 0       8 . 0 × 1 5 0 m m 5 0

O J 0 0 3 2 4 5       1 0 . 0 × 3 0 m m 1 0 0

O J 4 8 0 3 6 7       1 0 . 0 × 4 0 m m 1 0 0

O J 4 8 0 3 7 4       1 0 . 0 × 5 0 m m 1 0 0

O J 0 0 3 2 5 2       1 0 . 0 × 6 0 m m 5 0

O J 4 8 0 3 8 1       1 0 . 0 × 6 5 m m 5 0

O J 0 0 3 2 6 9       1 0 . 0 × 7 0 m m 5 0

O J 4 8 0 3 9 8       1 0 . 0 × 7 5 m m 5 0

O J 0 0 3 2 7 6       1 0 . 0 × 8 0 m m 5 0

O J 4 8 0 4 0 4       1 0 . 0 × 9 0 m m 5 0

O J 4 8 0 4 11       1 0 . 0 × 1 0 0 m m 5 0

O J 4 8 0 4 2 8       1 0 . 0 × 11 0 m m 5 0

O J 0 0 3 2 8 3       1 0 . 0 × 1 2 0 m m 2 5

O J 4 8 0 4 3 5       1 0 . 0 × 1 3 0 m m 2 5

O J 0 0 3 2 9 0       1 0 . 0 × 1 4 0 m m 2 5

O J 4 8 0 4 4 2       1 0 . 0 × 1 5 0 m m 2 5

O J 0 0 3 3 0 6       1 0 . 0 × 1 6 0 m m 2 5

O J 0 0 3 3 1 3       1 0 . 0 × 1 8 0 m m 2 5

O J 0 0 3 3 2 0       1 0 . 0 × 2 0 0 m m 2 5

O J 0 0 3 3 3 7       1 2 . 0 × 4 0 m m 5 0

O J 4 8 0 4 5 9       1 2 . 0 × 5 0 m m 5 0

O J 0 0 3 3 4 4       1 2 . 0 × 6 0 m m 5 0

O J 4 8 0 4 6 6       1 2 . 0 × 6 5 m m 5 0

O J 0 0 3 3 5 1       1 2 . 0 × 7 0 m m 2 5

O J 4 8 0 4 7 3       1 2 . 0 × 7 5 m m 2 5

O J 0 0 3 3 6 8       1 2 . 0 × 8 0 m m 2 5

O J 4 8 0 4 8 0       1 2 . 0 × 9 0 m m 2 5

O J 4 8 0 4 9 7       1 2 . 0 × 1 0 0 m m 5 0

O J 4 8 0 5 0 3       1 2 . 0 × 11 0 m m 2 5

O J 0 0 3 3 7 5       1 2 . 0 × 1 2 0 m m 2 5

O J 4 8 0 5 1 0       1 2 . 0 × 1 3 0 m m 2 5

O J 0 0 3 3 8 2       1 2 . 0 × 1 4 0 m m 2 5

O J 4 8 0 5 2 7       1 2 . 0 × 1 5 0 m m 2 5

O J 0 0 3 3 9 9       1 2 . 0 × 1 6 0 m m 2 5

O J 4 8 0 5 3 4       1 2 . 0 × 1 8 0 m m 2 5

O J 4 8 0 5 4 1       1 2 . 0 × 2 0 0 m m 2 5

Product Codes Begin 9ULTIMATEDECK  Product Group 5062

Ulti-Mate Decking Screws in Tubs

O J 4 2 0 5 0 8       4 . 0 × 5 0 5 0 0

O J 4 2 0 6 5 2       4 . 0 × 6 5 3 5 0

O J 4 5 0 8 0 2   4 . 5 × 8 0 2 0 0

Tub

d1 6mm 8mm 10mm 12mm

k 4 5.5 7 8

s 10 13 17 19

e min. 10.89 14.2 18.72 20.88

d1

k ls

e

Ar t i c l e  No .
S i ze

Box  Q ty.

A r t i c l e  No .
S i ze

Box  Q ty.

d1 6mm 8mm 10mm 12mm

k 4 5.5 7 8

s 10 13 17 19

e            min. 10.89 14.2 18.72 20.88

RS Stock No       Size


